
Page 1 of 3

Install Instructions 

PRP Seats Honda Talon 4 Rear 
Seat Install Instructions

Read through all of the instructions completely before beginning the 
install.

Parts Included:
A. 4 x Seat Adapters (Driver and Passenger)
B. Hardware
 4 x 5/16’ x 18 x1” Bolts
 4 x 5/16” USS Washers
 4 x 5/16” Lock Washers
 
 
Tools Needed: (not included)
12mm Socket
6mm Allen Wrench
1/2” Wrench (preferably with ratchet end)

Time: 
Approx 45 Minutes.

B.

A.



Install Instructions for PRP Honda Talon 4 Rear Seat Mounts

Page 2 of 3

1. Start by Removing the Stock Seats 
from the Vehicle. 

 
 Pull the release lever under the front of 

the seat, and remove the bottom cushion. 
Use a 6mm Allen Wrench to remove both 
bolts in the front of the seat. Then use a 
12mm socket to remove both nuts in the 
rear of the seat. Then take the stock seat 
completely out.

3. Adjust the Mount Width for the PRP Seat
 
 Place the PRP Seat into the vehicle. Line 

up the feet in the back of the seat, with the 
slots on the mounts, and then slide them in.

 
 You can now adjust the seat and mounts 

so that the bolt holes in the seat frame line 
up with the mounts. You also want to make 
sure it doesnt hit or rub against the center 
console.

2. Place the Adapter Mounts into the 
Vehicle. 

 
 These are right and left side specific. On 

each bracket there is a slot on top for the 
seats to slide into, that should be at the 
back. 

 Reinstall the Allen head bolts in the front, 
and nuts in the back - but only get them 
hand tight. (You will need to be able to slide 
the mounts side to side). 

4. Completely Tighten Down the Mounts 

 Once you have the seat width mounted 
correctly, use a 6mm Allen to tighten down the 
front two bolts. Then remove the seat (carefully 
so you dont move the mounts out of position). 
Then completely tighten down the rear nuts 
using a 12mm socket. 

 *If you are going to install aftermarket 
harnesses, now is the time to get the lap belts 
bolted in. 



Install Instructions for PRP Honda Talon 4 Rear Seat Mounts

Page 3 of 3

5. Install the Seat into the Vehicle
 
 Place the seat back into the vehicle, and 

slide the rear feet into the mounts. Place 
the supplied 5/16” x 18 x 1” Bolts, Lock & 
Flat Washers under the seat, and thread it 
into the hole with the mounts. Use a 1/2” 
Wrench (preferably with a ratchet end) to 
tighten down both bolts. 

 

6. *Note - Seat Height
 
 With PRP Seats you gain about a 1/2” of 

extra headroom versus the stock seats. But 
you will have slightly less legroom. Full size 
adults can fit, but it will be more comfortable 
for young adults.

 

7. ... And You’re All Done!
 If you have any questions or experience 

issues, please contact your retail outlet 
first for help. However, the staff at PRP 
Seats is always happy to assist you.

 1-800-317-6253.
 customerservice@prpseats.com
 Thank you! Ride safe!


